3

)

Lill /> =

PASISR 725 RETRFEINE 538 B hnk
§ Yo b
s ey — (202555
%ﬁ%ﬁcﬁﬁi = )
ﬁﬁ %vﬁ? T ) BEReS T B SZita 2025418 1H%2025412 531 H
T R R P X B T B SR | KRR X R T
SEit A 4720 FEEB 4720
RERN 1™ R, mmam 4720 Jb: MBI 4720
Hibg e Hithg e
S H b 5 B i
SR | R s | (Ra OERAT AR ERND) “ LI ik
it BRBEETBOE) (B¥—1%) HLBETE.
- — gk =gfaks R AR
BUEE RS >1K
Yol a7
R4 ol 8 >30%
VI R <10k
i3 o B <3%
P2
VIR e R <3%
I <106
AT R R <106
S e <104
BRI |k >90%
B dehr
e |ERAL >90%
R4S X Rk = =90%
VR IRE | RS R R B R
HEARHERE =90%




